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9. The function f has domain (- oo, e) and is defined by f(x) = e".
The function g has domain (2, =) and is defined by g(x) = In (x* — 4).
(a) State the domain of fg. [1]

(b)  Solve the equation fg(x) = 5. (4]

11. The functions f'and g have domains (O, oo) and (U, %} respectively and are defined by

(/’\.)/ f(x)=Inx,

g(x) = tanx.

A\
\JJX 2 (a) (1) Write down the domain of fg.
(1)  Write down the range of fg. (3]

(b) (1) Solve the equation fg(x) = —0-4. Give your answer correct to two decimal places.

(i) Giving a reason, write down a value for & so that fg(x) = k has no solution. (3]

8. The function f has domain[-1, =) and is defined by
£ /)e? £09) = Infdx + 5) = 2.
Y\
Lo o (a)  Find an expression for /7'(x). [4]

(b)  State the domain of /7. [

10. The function f has domain (e, 10 ] and is defined by

i f(x)=cT+6.
6 A (@) Find an expression for f~'(x). 4]

w (b)  Write down the domain of /. 2]

(a) The functions fand g have domains (==, o) and (0, =) respectively and are defined by

f(x) = x* =125,
/fg };(’;) :xe-—3.

(i) Write down the domain of fg.
(ii) Write down the range of fg.
(ifi) Write down an expression [or f2(x).

(iv)  Solve the cquation fg(x) = 0.

(b)  The function 4 is defined by

_2x+]
h(x)—-s_);_z.

(i)  Show that hh(x) = x.

(i) Hence write down an expression for ' (x). [3]



7. (a) Solve the inequality | 3x~4|> 5. [3]

C\) S (h) (i) Sketch the graph of y = | x|.
6@’ (i)  The diagram below shows a sketch of the graph of y = a | x + b |, where @ and b are
constants. The graph meets the x-axis at the point (4, 0) and the y-axis at the point
0, —8).
A
@0 .
(05 -"8)
Find the value of @ and the value of 5. [3]

S 4

9. The diagram shows a sketch of the graph of y = f(x). The graph passes through the points
(-1, 0) and (7, 0) and has a minimum point at (3, —6).

)J
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(31 —6)

Sketch the graph of y = ~%f (x +4), indicating the coordinates of the stationa ry point and

the coordinates of the points of intersection of the graph with the x-axis. (3]



